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PROVA: A LICENCE TO SELL


EXAM

Read the passage carefully and answer the questions in English. USE YOUR OWN WORDS AS FAR AS POSSIBLE.
Time allowed: 1 hour and 30 minutes. Total score: 10 points.

A LICENCE TO SELL
Modern films and TV shows often feel like one long advertisement thanks to an advertising technique called ‘product placement’. The technique involves using products in a film or TV programme as if they were part of the story. Product placement owes its success to the video recorder, as owners soon discovered that they could quickly fast‐forward when adverts appeared in the middle of programmes they had recorded. Video recorders were a problem for advertisers; product placement was the solution.
Today, product placement is a multi‐million dollar industry. Advertisers receive scripts and then look  for products that fit ‘naturally’ with the story. For example, a studio making a film about a teenager at university might look for clothes brands, a laptop computer and a mobile phone for her. The camera could easily focus on all of these objects without damaging the story. The problems begin when nobody worries about the story.
Ian Fleming, who wrote the James Bond novels, gave his hero a ‘licence to kill’. Today, many people say the James Bond films have given him a new licence: a licence to sell. When Bond isn’t using the latest mobile phones or handheld devices, he is driving sports cars and flying with airlines that have all been placed in the films for enormous amounts of money. Companies paid $45 million for their products to appear in the last Bond film. Many Bond fans think there are so many products being advertised that there is not much plot.
Product placement now occurs in most TV programmes and films and audiences appear to accept it. Nevertheless, many critics feel that if advertising products becomes the only reason for making programmes and films, audiences will soon look for alternative forms of entertainment.


Vocabulary: video recorder (n) = a machine for recording television programmes and playing videos.




1. Say whether the following statements are TRUE or FALSE. Explain WHY using your own words OR finding evidence in the text. NO marks are given for only TRUE or FALSE. (1 point)

a) Product placement describes a TV programme that is about a product.
b) In the future, audiences might consider product placement a reason for finding different types of entertainment.

1.  In your own words and based on the ideas from the text, answer the following question. NO marks are given for responses copied directly from the text. (1 point)

Why did TV viewers’ habits change as far as watching adverts is concerned?

2.  Find in the text words or phrases which mean the same as the ones below. In the case of verbs, ONLY infinitive forms will be accepted. (1 point)

a)   To make something the centre of interest.
b) A person who has something.
c) A piece of equipment.
d)   The series of events that form the story of a film, novel etc.

3. Follow the instructions for each question and answer them (2 points):

4.1. Fill the blanks in the following sentences with the correct form of the verb in
brackets. (0.5)

	A:	Do you think advertisements _______ (affect) you?
	B:	Oh, I _____________ (never think) about it before. I suppose they do.
	A:	We don't always rush out immediately and buy whatever they show.
	B:	No, but we're all influenced by them in some way or another.

4.2. Complete the following sentences with an appropriate word (Use only ONE word in
each blank). (0.5)

	a)	That was _______ best advertisement I've ever seen.
	b)	It doesn't matter _______ a product is fashionable or not to me.

4.3. Turn the following sentence into the passive voice. (0.5)
	
Advertisers introduced product placement because of the success of video recorders. 	
Product placement ____________________________________________________

4.4. Rewrite the following sentence in reported speech. (0.5)

	‘I love fish and chips,’ he said.
	He said ________________


5. Look at the underlined part of the words below. Three of the words in each line (A, B, C, D) contain the same sound. Circle the word which contains a different sound. (1 point)

A) entertainment  	B) placement  	C) camera  	D) greatly
A) device 		B) licence  	C) flying  	D) films
A) owe  			B) money  	C) phone 	D) shows
A) receive  		B) licence  	C) sell  		D) focus

6. Write a composition of 120–150 words on the following topic (4 points):

Does advertising influence people?
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